
Defensive and Competitive Biddings Leads and Signals 

Convention Card 
(Based on World Bridge Federation) 

 

Overcalls (Styles; Responses; Reopening) Opening Leads Style 

1/1: 8-17HCP，usually 5+  Lead In partner’s suit 

2/1: 10-17HCP，5+ Suit 3nd/5th 3nd/5th 

Response: 1NT=8-12HCP, 1/1F1，2/1NF，2/2F1，3/2 FG，Cue=F1 NT 4th 4th 

 Subseq ditto ditto Category: 2/1FG(Natural) 

  Event: 2020 FISU WUC Mind Sports  

   Player: Jiang Shuijing, Qi Ming 

 1NT Overcall  Leads 
System Summery 

2nd seats: 15+-18HCP UnBAL OK  Suit NT 

Response as opening 1NT A AKX(+), AX, AKJ (+) AK(+),  AKJ10(+), A(+) General Approach and Syle 

4th seats: 12-15HCP K AKX(+), KQX,KX, KQJ(+) Opening: 1M = 5+; 1 = 4+, UNBAL;  1 = 2+, (1/1 response = transfer) 

 Q QJX(+),QX KQ109(+) ，QJX(+) ,QX 1NT = 14-16 HCP, BAL (M5, m6 OK) 

 J 0-1,J10X(+),J109X(+) 0-1,J10X(+),J109X(+) 1 - 1/ - 1NT = 17-19HCP, BAL 

 Jump Overcalls 10 0-1,10X,109X 0-1,10X,109X 2 = 22+HCP or 18+HCP with 8.5+ tricks 

Preemptive bid 9 0-1,9X，98X 0-1,9X,98X 2 = 5-10HCP, / 6+ 

 Hi-Lo HxS(x),  Hx,  xxSx HxxSx(+),  xSx,  xSxx 2 = 5-10HCP,  54+ 

2NT=mm Lo-Hi HxxxS,  HxS HxxS 2 = 9-12HCP, 5m4+ 

 Signals in order of priority  2 over 1 responses：game forcing except when suit rebid  

 Direct and Jump cue bids    Partner’s lead Declare’s lead Discarding Special Bids That May Require Defence 

Michael Cue; Response: 3♣=P/C; 2NT=ask 

T 

1 Lo=Enc Hi-Lo=O O/E 2=1st/2nd/3rd Seats=5-10HCP，M6+，WK 

 2 Hi-Lo=O Lo=Enc Count 2=MM，5-10HCP; 2=9-12HCP，5m4+ 

Jumping cue bid=ask stop 3 S/P S/P S/P 3NT= Gambling 

 

 NT 

1 Lo=Enc Hi-Lo=O O/E 2NT=20-21HCP, BAL, M5 OK 

VS. NT ( vs. strong/weak ; Reopening ; PH ) 2 Hi-Lo=O  Lo=Enc Count  

vs. strong: 2♣＝Landy; 2♦＝M6+; 2♥/♠=M5m4+; 2NT=mm; 
 

3 S/P S/P S/P  

X=m5M4，then 2♣=ask m, 2♦=ask M Trans-Smith  

vs. weak: 2♣＝Landy; 2♦＝M6+, 8-11HCP; 2♥/♠=M5+, 12+HCP;   

2NT=mm; X=equal strength or stronger 
Doubles 

 

  

 VS. Preempts Takeout doubles  

X= Takeout Double; 2NT=16-18HCP; 3NT=TP 11+HCP, maybe weaker with good distribution  

(2M)-3M=m suit, ask stop for 3NT Balance: 8+HCP   

   

 VS. Artificial Strong Openings  Special Overcalls That May Require Defence 

CRASH (vs. 1♣): X/1♠/1NT = Double Suits; Special, Artificial and Competitive Doubles/Redoubles Michaels Cue: NV=8-12/16+HCP; VUL=12-16HCP 

                           1R/2R = Transfer to M; 2♣ = Triple Suits; Support Doubles/Redoubles Unusual 2NT 

(*1♣) - P - (*1♦) - ? : X/1NT/2♣ = Double Suits; Negative Doubles Lead Directing Double 

                                 Others = Nat. Lightner Doubles  

 Responsive Doubles  

 Over Opponents’ Takeout Doubles Invitition Doubles  

1M - (X) - ? ：1NT-2M-1=Transfer; 2NT=M4+, Inv；    

3m=Fit-showing; 3NT=M4+ with defensive strength 
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Description Responses Subsequent Auction Passed Hand Bidding 

1  2 4 
11-21HCP, 2+ 
11-13 or 17-19, BAL 

1/=4+/, F1; 1=6-12HCP, 3+, w/o M4; 
1NT=8-11HCP; 2=12+HCP, 5+/13+HCP, BAL, GF; 
2=9+HCP, 5+; 2=6-9HCP, MMs; 2NT=16+HCP, 
BAL,  w/o M4; 2=6-8HCP，54+；3/3/3=WJS; 
3=preemptive; 4/4=TRF, /6+ 

1-1X-1Y-？ XYZ-ZZ  
1-1X-2NT=Mice 2NT 
1-1R-1NT-?  Response as opening 1NT 

 

1  4 4 11-21HCP, 4+, UNBAL 

1/1=4+/, F1; 1NT=6-10HCP; 2=12+HCP, 
5+/13+HCP, BAL, GF; 2=6-9HCP, 541/55; 
2=5+, 9+HCP; 2=6-8HCP, 54; 3/3=WJS; 
2NT=INV; 3=preemptive; 3=5+, 10-12HCP 

1-1X-1Y-？ XYZ 
1-1NT-?  2=TRF 2;  2=13-15; 3=mm, Min 
1-1X-2NT=Mice 2NT 
1-1M-1NT=Gazilli; then 2=8+HCP 

 

1/  5 4 11-21HCP, 5+/ 

1=4+, F1; 1NT=4-12HCP;  
2=13+HCP, 5+/BAL, GF/9-11HCP, M 3 
2/=13+HCP, /5+/10-12HCP, / 6+ 
2= WJS; 2M=5-8HCP, M3+; 3M= preemptive, M4+; 
2NT=10+HCP, M4+; 3=10-12HCP, 6+; 3=6-8HCP, 
M4+; 3OM=10-12HCP, SPL; 3NT/4m=13+HCP,  
OM/mSPL; 4M=TP; 4NT=RKCB 

Jump bid=TRF, +1=SAB; 
1-1-1NT/1-1NT-2=Gazilli, +1=8+HCP 
1M-2NT-? 3Min; 3=Max, m4+; 3M=Max, BAL; 
3OM=Max, Nat. 
1M-3OM:  +1=ask SPL 
Italy 2 

2=Drury 
1M-2-? 2=WK or INV; 2M＝
normal opening, Min;  

1NT   4 14-16HCP, BAL 

2=Stayman; 2/2=Jacoby; 2=ask range; 
2NT=5+, ask ; 3=ask M5, GF; 3=m55+; 
3/3=5431, / 1; 
4/4=TRF /; 4/= TP;  

1NT-2-Any-3/=TRF, M4 with OM/m SPL, GF; 
1NT-2-2-2=5, UNBAL, INV; 1NT-2-2-2＝
5, UNBAL, INV; 1NT-2-? 2NT=Min; 3=Max; 
1NT-2NT-? 3=bad; 3=good 

 

2 √  4 
Strong 
22+HCP or 18+HCP, 
8.5+Tricks 

2=Relay; 
2/2/2NT/3 =/// 5+, 7+HCP； 
3/3/3/3NT =/// 7+, 3-6HCP； 
4/4=/8+, concentrated; 4/= TP 

2-2-2=Kokish, TRF 2, 5+ UNBAL or  
24+HCP BAL 
2-2-3M=M45+  
2-2-3-3=Relay 

 

2 √ 6  
 
5-10HCP, / 6+ 
 

2/=P/C; 2NT=ask; 3/3=Nat GF; 3=P/C, 
preemptive; 3=S6+, INV; 3NT=TP; 4=Transfer to me; 
4=ask suit 

2-2NT-?  3 = , Min; 3 = , Min; 
  3 = , Max; 3 = , Max 

 

2 √ 5-4  5-10HCP ,  54+ 
2=TP; 2NT=ask; 3=TRF 3; 3=m6+, ask SPL, GF；
3/3=preemptive；3NT=TP；4/4=/ RKCB 

2-2NT-? 3=(54), Min; 3=55, Min; 3=4-5, Max; 
3=5-4,Max; 3NT=5-5, Max 

 

2  5-4  
9-12HCP, 
54+/55+ 

2NT=ask; 3/4=P/C 
2-2NT-? 3=4+, Min; 3=5+, Min; 3=4, Max; 
3=5+, Max 

 

2NT   4 
20-21HCP  BAL 
M5/m6/m1ok 

3=Puppet Stayman, 3/=Jacoby, 3=mms; 
4=ask A; 4/=Taxas； 

2NT-3-? 3=M4 or M44; 3=w/o M4; 3=5, 
3NT=5 
2NT-3-3-4/=m 6+, SI 

 

3X  6  5-10HCP, 6+, Weak 
New suits=NAT, F1; 3-3=ask M3; 3M=NAT GF; 
4M=TP; 4NT=Blackwood 

3-3-3=3; 3=3; 3NT/4=NAT  

3NT √   Gambling, solild m7+ 4/5=P/C   

4/ √ 7  
10-14HCP, 7+/, 
8-9.5Tricks 

4-4/4-4=SI; 4NT=RKCB   

4/    
7+/, Preemptive, 
weaker than 4/ 

4NT=RKCB High Level Bidding 

       Answer to RKCB: 1/4, 0/3, 2/5 without trump Q, 2/5 with trump Q 

 


